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PN1 55 el 3N 3/29 11/23 11/8 /5 8/2 9/6 10/4
77X sé-‘»u:aﬁu»u: GRAVEL |TOBIUME @ RCHEA | RASCAL = RTCR T-XT CRMC T-OM
(HEE#) 5% 8% 4% 78 108 6% 6% 8%
WF k& Speclzd-R 20 20 - 20 20 - 20 12
ik BN KPLR 15 12 - 15 15 12 15 20
ERK #% GRAVEL - 10 15 10 8 15 - 15
BB R chase 12 15 12 6 10 - - 8
ST ¢! T-XT - - 20 12 4 - 10 10
TR A BATTLER R 8 10 8 6 - 8 6
i 235 NEUTEAL - - - - 12 20 12 -
EED A Qucc - 4 - 3 8 6 4
O B RASCAL 10 6 - - 2 - - -
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B N KPLR 15 12 - 15 15 12 15 20
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ST ¢! T-XT - - 20 12 4 - 10 10
TR fE BATTLER R 8 10 8 6 - 8 6
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(HHEL#) 128 128 9% 108 9% 108 108 108
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kg % RTCR 1 2 8 10 - 2 6 15
£15 [EAXER  |KPLR 4 4 4 8 6 6 2 3
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BE F— chase 10 12 - - - - - -
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HLE ¥ RAPS 20 20 20 20 12 20
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